
A IS FOR: _ _ _ _/_ _ _ _ 
An environmental problem in industrial cities caused by 
cars, factories and power stations. It kills trees and fish 

in lakes. 
  



B IS FOR: _ _ _ _ _ _ _ _ _ 
 The  part of the Earth’s surface and atmosphere which is 
inhabited by living thins. Also, this is the part that we are 

poisoning with industrial pollution. 
  



C IS FOR:  _ _ _ _ _ _/ _  _ _ _ _ _ _ 
This is one of the elements in a combustion, the other is water. Cars 
and power stations release this gas into the atmnosphere and the 

heat from the Sun is trapped causing the « greenhouse effect» 
  



D IS FOR: _ _ _ _ 
Mountains of sand in the desert that change their 

position by the wind storms. 



E IS FOR:_ _ _ _ _ _ _ _ _ _  
The dangerous situation for plenty of wildlife which is 

threatened with extinction. 


